3.5 Notes

Day 7 MORE LINEAR MODELS

| THE cANDY PROBLEM ] %& %

1. At your favorite candy store, you can buy 30-ounce bags of a certain kind of candy for
$1.83 and 20-ounce bags for $1.57. Assume that the cost of the candy varies linearly with
the number of ounces.

Define the variables: Set-up the ordered pairs
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a. Write the particular equation, expressing cost in terms of ounces.
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b. You saw a 45-ounce bag that cost $2.49. Is the bag over-prices or under-priced?
EXPLAIN.
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c. Suppose a “snack-sized” bag was priced at $1.25. How many ounces of candy would
you expect to get? Y= 125
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d. What are the units of slope? What does the number mean in the real world?
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e. Find the intercepts and tell what they mean in the real world.
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f. Sketch a graph of this linear function. W the real wodd T4 o
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